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e aen bt et o 30 s e aed s qfz 98 30 9% By
A b0 Sl A e d@owin & an gl @ e fyedfea [y m CIREE . 3
e A
I
a) 100 b) 200 ¢) 300 d) 400
a e population of a town is 352800, 11t increases af the rate of $% per annun, then wiy Wi
s ]\npulullun be after 2 yRnrs. U
n) 155000 h) 380962 ¢) 388962 d) 419242
X ' .. B Y
Gl @ ) i 352800 8, alk s il s% B a ad B @ PR g
neard el anard) g @l 7
a) 000 b) 380962 , ¢) 388962 d) 419242
i A shopheeper marked 50% more price than cost price of the article. 1 he allows 30% discﬂlim
to his customers, then his profit per cent is :
a) 5% by 10% ¢) 12% d) 15%
U f'v"i'l'ili -'1 de A o dlag & 38 W 0% ad HEd sfda B g
AU wehl @ R 3ove ) e 2 Q) gEdr AT A e
a) Y% b) 10 % c) 12% d) 15%
8 A sum of money lent o compound interest for 2 years al 20% pa would fetch ¥ 964 more, if the
mterest was payable half-ycarly than if it was payable anntk ly. What is the sum ?
a) 40000 b) T 60000 ¢) T90000 d) ¥ 500000
Qoo B AU 20% qfd tlﬁf & (g q BHd s gy 3UN Q T["S (hH T 964 B
SRR A 2 uR ey Gy Aiffe 1 ST oHE) ®7 4 ?W 8 | SUR W
el
a) < 10000 b) T 60000 ¢) T 90000 d) ¥ 500000
5 Salary of Mr. X is 80% of the salary of Mr. Y and the salary of Mr. Z is 120% of the salary of
e Mr. X. What is the ratio between the salaries of X, Y and Z, respectively ?
-
%‘“‘/(f a) 4 : h) 4:5:6 c) 16:24:25 d) 20:25:24
sp ™ He X0 W ey @ A ar gov% @ AR Mo z A o X # o
'
Lo 120% 21 X, Y8l 7 -1c|| N e @ ST B 7
_{.}(.;1} d:0 by 4:5:6 c) 16:24:25 d) 20:25:24
&0
(00 . The average age of a man and his son is 27 years. The ratio of their ages is 8 : 1, respective
What \\ |H ln #]& s age after 6 years ?
‘IY (:fumr, 0 b) 14 years ¢) 12 years d) 8 years
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: VD
2 330 km b) 400 ki ¢) 525 km &) 300 km Lt
M A WI9 1000 Rrehdhes o . S ' ;
A S0 B AT RN 00 Fhefltes 4« WR ) ouw s : ;
- 3 ’ T tenmd) 4 s ad 3 st
joA AW 40 e LIRS , N A ICGT
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2 350 fe b) 400 fb ). o) 525 B ol & 300fkA,
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o PR : . “A \ e g
y  Thecost of 2 sarves and 4 shifs is

T 16000 while one saree

. u i
: and 6 shirts cost the same. The cost ™ e
s 12 shirts s —7
§ NS 1 ‘ -
> R SR4 SN N S 16000 w2 ey LT G T 1 P 9
SUNR @112 N WY g sy R 0 § 427 28
a) ¥ 12000 b) T 24000 ¢) 48000 d) 160000~ (x27

- ro . 5 L x.
W0 The average of two numbers A and B'is 20, that of B :md.t 15 19 and of C and A it is 21. What

A \
is the value of A9 N o= 2-
i Y ilaiadl > .-5.!; — - uz
a) 24 b) 22 ¢) 20 d) 18 “2 o4
@ AN A B P NG FET 208 BWC M0 @ Cw AR 2
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1) '\ b) 22 c) 20 d) 18
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00 ek By ¥ 5% vE R AW @ B | @ BN R\ S
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1) 3 ‘-t;"‘ ‘\ﬁ b) 35 ﬁlaz C) 403“3( (Y' / d) 45 11

3 A boy and girl together fill a tank with water. The boy _poprs.;ll ?:_l::; otf v:ie::e::oe_
and the girl pourg 3 litres every 4 minutes. How much time will it take to - .
inthe tank ? i ) ) . oL Uy y
a) 36 minutes b) 42 minutes ¢) 48 minutes ). A4
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AT ean run 500 i in 30 sce and ‘B* in 35 sce. How much start (in meters) can A Bive .
the race s that the race may end in a dead-heat ? iy

I

a) 1392 b) 1382 0) 142 ] R

‘A0 A B Gk ‘B’ 35 @dg #H 500 e bl 21 ‘A, B # ey, oy
(e 8) % @il 241 @) g w1 am a8 ?(, d) 1402 F f
n) I_HJ; b) 138;-; ¢) 142 /

v 5% and the breadth s (e,
I I the length of a rectangular plot of land is increased by 5% Lrea%r“
10%, by how much will its arca change ? |
3 reasc b USS’}{I‘ (I) ll]crcage b
b) decrease by 5.5%  ¢) decre y Y600,

"y

1) increase by 5.5% 5
‘ ) ol B ST WS 10% FH gy g
R v snaare wite #) oErd 5% W@ @ ¢ st ks o

2 . "‘; - Y Fhea= s ?
2ol 3ud AF 4 Fhan wRadw g o 055w B2 d) 6.0% a3

1) 5.5% dAgdl B b) 5.5% 7 &Kl 2
; ?
15 Which of the option will come in place of the question mark *
" I.4, 27, 16, 7, 36, 343
. a) 25 b) 87 c) 120 d) 125
noilaea B ourm A | [Aeew o ?
1.4.27, 16, 7. 36, 343
) 25 b) 87 ¢) 120 d) 125

16 When you cut or copy information, it gets placed in the :
a) Chpart b) Clipboard c¢) Internet

A4 31 Slibrdl bled 81 g1 P #d Bl ol asla?ﬁ Tt @l B 7
) bl b) wicuere ¢) T d) HG e

d) Motherboard

17 Which of the following cannot be part of an E-mail address ?

a) Period () b) Atsign (@) ¢) Space () d) Underscore ()
Froctlled o a6l ar 99 w &1 Rewr T8 8 g 7
a) l-g () b) U HET (@) ¢) T () d) 3T ()

(5 Which command will you use in PowerPoint if you need to change the colour of different
ohjects without changing content ?

4) Object colour b) Font colour ¢) Design template d) Colour scheme
et viige oAl s - st @ B, TR amnh B e R
eAd a6 sed ged) B, 1 & #mig @y TN 7
n) s e b) Wi #werR ¢) o vy d) &AL @A
19 Superserip, subscript, outline, emboss, engrave are known as :
a) Font styles b) Font effects ¢) Word art ~d) Text effects
e, g G, watey v I FET ST B
n) HC et b) e e
, 3 ¢) a3 I d) Zoge gh¥cd
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Google Play
. _——— "
| )
Which funetion will be used to enter current time in a worksheet cell ?
o current ime() b) “time() ¢) =now() d) All of these
ey et A WHEL R e w6t & R R waee @ g § oo o 27
W) current Fime() b) “time() ¢) =now() d) A =l
punetions i MS Excel must begin with
0 () b) + ¢) = dy > |
o v vadel HOWEE  Q us @ iR
:Il{" h) + C) — d) >
which of the following is not a type of page margin ?
A betl b) Right ‘() Center d) Top
el 48 WA W AW el @) uw R A8 20 )
q) A A by @ av ¢) Hen H d) I ’
4
P bvie 7 .
2 B bits b) 4 bits ¢) 2 bits d) 9 bits /
| t'-”'.,l-ﬁ_‘ i If,
2 sy b) 4 Rew o) 2 e d) 9 fae@ ¥
(‘hoose the option that identifies the underlined word in the sentence given below : a
"ace the book on the book-shelf. \1
1) Noun b) Conjunction ¢) Adjective d) Verb i{
it

Identily the correctly spelt word : '{
1) Acomodation _-b) Accomodation ¢) Acommodation  d) Accommodation

Choose the answer that best completes the comparison :
Traitor : Deserter : @ Renegade :

1) Dichard b) Driver ¢) Loyalist d) Insu
il up the blanks with most appropriate option :

He is superior -~ me.
a) from ) o c) By d) in
Seleet the correct description of the given word

Belligerent
1) A nation or person thinking of itsell. ¢) A nation or person engag
h) A nation or person talking of peace. d) A nation or person helpin

Change the voice of the following sentence :
Please give me a pen.

4} You are ordered to give me a pen. ¢) You are requested to gi

h) You are ought to give me a pen. /d) You are requested to g
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3

- 4 H‘l‘“llnu]“- the tablowing P i proper sequence o abtain o correct sentence ;
PeRdge hecase it wasn't
oo many cases sl Jie
Lo the conviet
Eocontimmed that the aecused really

U0 B Y I by 2.3.4, 1 ¢) 1,4,3,2 d) 4|2.|,3
” Nl’ltll the erio i the bl !
\ helow sentenve W],
: [ . (1) Several prominent celebritios / (2) involved in the seandal 7 (3) are required (o appc"”(q)l ’
he mvestpation committee 9
in | h) 2 c) @)
20 Which of the following is synonym of the given word (4 ,
: / Treachery \
¢) Debit d) Failyre .

a) Lreasure h) Pertidy
it ths 7 ion which has word re :
i Find the relationship among the words and select the right opti rd relateg in 4
sunlar wany

PREAMUBLL  STATULE

b) Movement © sympathy ¢) Sketeh @ drawing d) lndex;bm}k

a) ke U AR LR | (R A ("

A Wlhach of the tollowmg is the brightest planet ?
a) Mercuny ) Venus ¢) Mars d) Jupiter
Foadaferg o @ @ quaer e 2 '

by A ¢) il dy ey

Which of the followimyp countries have launched a common digital currency "Aber” ?

¢) China and North Korea

alb Cermany and France
by Japan and South Korea d) UAE and Saudi Arabia

R T T T T O ] OO R T T R C R | e - S
a) el A wig ¢) A SR Sl W
by et st alie R ) Y v d R ad e

a) Hi 'f-ori

oo Who has hecome the IAFs first woman Qight engineer ?
a) Priva Sharma b) Thina Jaswal ¢) Mohana Singh d) Pratibha Kumari

g U ) vedl wenge PR aRer @ wof 22
a) far o] by ST st ¢) Mer Rig d) vl AT
L% }

Fo What was the theme of the 2019 National Science Day 9
a) Science for the People and the People for Science
b) Science for Nation Building
) ‘\.\'IIL‘HL‘L' and Technology for a Sustainable Futuro
d) Science and Fechnology for specially-abled persons.
-f_rnj_‘__l:i fasiry faag 2009 1 [y aaqr oy 7
a) e R ud Ry @ o o
by s b o R ‘
; l[{-l['-“‘*’ AN o gy Ud qRifing)
d) RN & 8 byl 6w
A= \.ll‘ J L} v - y
_ = SR mU‘ D;;H Uy gﬂghm;ﬁ
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4 Kumari Maisnam be]
cena kum clongs 1o whin
< M BS 10 whigh Sport 7

a) Boxing b) Badmingg,

- A= : €) Tenni: .
1 E@”T{?ﬂ AT TR @ f6u ey 3 9 o ) kel
2) g‘-ﬁh\a.ﬁ. b) a‘gma;:l

| ¢) iy
Argon 15 gas used along witly ungsten wire in an electrie b |

N ‘ e bulhy b
p) increase the lifie of bulb
b) reduce the consumption oi‘elcclricity :])) l:::l::::!.'l:f e A i
" e e iy o s o . ce the cost ol the hull
g @ A e e W o o
by el B TIE B T oy e
o T P B A D My o
g)  H OB BB A § fyo

., Where is Hambantota Port located 9

dy e

H

SR o wien Bl

~/a) lran ; | b) Sri Lanka ¢) Japan d) Pakistan
eIl M del Rum 2 7
a) A b) N &® ¢) I 4y il

4. Which hockey player has been nominated for the 2019 Rajiv Gandhi Khel Ratna Award ?
a) Chinglensana Singh Kangujam ¢) Akashdeep Singh
b) P R Sreejesh d) Romesh Pathania
fra gl facmel #1 Tolld Ml B W e 2000 @ R g B o 27
o) RiclarT e S b) @ AR fRw o) swwda e ) ane vk

g2, TAI-TVE & 5 HHTLS AEE 9

4

/ a) 5339 b) mrer ¢) 3w Hfos —9 ceall

1. 98 JIo fafimi feg’ fam At 8 Aafus s 3

v/ a) ¥AZ @9a ate + feradt fBa ey feas wraw ate + fenad) B
b) wH B + ufSar d) w3t + fenad) o

y I5 fefimtt fed fxasr uguert ugste ot J

a) H b) 3 ) CEc| dy nodt
/mwmgmwﬁaﬁaﬁw%:

NER) b) nirt, A ¢) T, ni K 3
s a fos-for g & foar At | ol few e fafeor 3

a) ¥ J faor Fit b) ¢) foar it Id)ﬂ'
43S s < o e e R 3 03
a) feg (@) b) € (&, ¢) f3w (@, 8%, @ d)
/
‘-“\‘—__"‘-'—-—-—

- Al__ MA_dlaal LN Cal D2
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A8, do (e wre ot fend’ fagst e S U y g7a, FLo Sl
7 @) W, @b, frsed 4) =79, T2
AT PR , 11 r?;—_na
byig, aga, s i &) F, e
49.  '3y' Huw @ AWETH] HEE IS L e ¢) afent’, B A, €8
_ : 5
S ) wtes, e, sfeen bY HEI, €0, T .
PRNEPEL (Lo N et d) 3d T™F
50, ‘feg gudl de wear?’ TR T g) IRFH=
s i I
R R s b) wirfam
- = . ﬁ_rﬁgr
’. N (- ;- rEﬁ' WHTE =4 CL a 4 L om WZ =7 H}F o ML
f’hlﬂ.‘) aa o9& g 30 L};:z;ﬁm}ja@gé’rafﬁﬁ agsT
' C

& 537 If ‘+’ means ‘+’,

@) HJ3 fimim Sdier

by @dl ga A - 51' '
l N bt AN Wil come in P
In this scriu.\‘}\\fhicf} nﬂ;tli’c (.')}][IQ!} x& il

2, ZXU, FDB, LJH, RPN

b) TRP Wi

52,
a) WXL
. s, ~ .q—{-
Prefaftia sraen 5 99 fRreg & &7
9 7XU, FDB, LIH, RPM

a) WXU b) TRP

rd

3 a ‘-I-'
' eans ‘X7, ‘— means

F: o =79
of :-_Jﬂr- 16 '!f'.fl,‘\-_'};“_z .

a) 16 b) 30
R 4w o, @ X, ‘—’?Eﬂ
20-16+4x3+2=7 1 geq FA1 B |

a) 16 b) 30

‘BD’ is related 1o ‘DH’, in the same way ‘MO’ i

i 2
f the question mark *

lace © _
; d) [XU
c) YWV 7~
) YWV d) LXU
c

d ‘x> means ‘—’, then what will be the valye
and ‘x’ me »

\/418 d) 24
g 4 wd x I < 3 gt

¢) 18 d) 24
s related to :
&) OS d) OP
‘MO # A= By m d qeg 2 |
¢) OS d) OP

Amit walked 30 m towards East, took a right turn and walked 40 m. Then, he took a left turn

¢) South-East d) South

54.
‘,]} I)R h) ()R
‘BD* @ ‘DH’{ sl awe qaw 8, N dw
a) PR b) QR
55,
**  and walked 30 m. In which difection is he now from the starting point ?
S a) North-East _B) East
IRT 30 e of # A wn qd an it
A 30 T 3 9 a9 gl fa=g
a) -y b) 7 §

- / i " ~
0" Four pairs of words are
relationship. Choose the

given, out of which t}
pair in which the words

: b) Easy : Difficult
AR g R o 3 RAdt @ e
6l 3 ey 78 %[

b) M Hfehey

a) White : Dirty

Ty

|

T iy ﬁ}mq Uﬁcﬁ
ayqhe -

Tea]

"51&%40%‘(%11:6&%37?53?"{@37
?isﬂw%aﬁmﬁ%?
¢) afer-gd d) gfeyor

e w
are

ords in three pairs bear a certain common
differently related.

¢) Brave : Cowarq

TN A e 2y gw g
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. relationship betwee

/ere o {-:g::[.cq C and Sﬁ'e:e“lez';zglin f_igtlljrles A and B. Establish a similar relationship
) helwev = suita :
/ " e the question mark (?) in figure (D). e figure from the Answer Figures that would

YThc | M B & A9 gd 341—{133 I
”lllm '-H{fdm‘/\ qay g | et > _a m # T EF{T‘?
!.U_aﬁzDﬁmﬁlﬁﬁﬂﬁwmwﬁaﬁaﬁmoﬁmﬁ%m%mm

g | .
problern Figures! Answer Figures / 3t 3([1?%
X Ol
A B C D~ @ & © @
/-g_ Choose the correct mirror image of the figure (X) from the four alternatives (a), (b), (¢) & (d)-
Wﬁgﬁlm 3 Ru Mo Reed @), (), (@ ®@ (@ ¥ A f (o F @ e
o
et ——1 .
ar{
¢
(X) (@) ®) () ¥ 2

Before beginning to impart instruction/knowledge, a teacher should :

a) Beaware of the environmental variables acting upon the mind of the student
b) Be aware of both, how much his students already know and their backgrounds
¢) Be competent enough to arouse the curiosity of his students

d) all of these

STFL@T (imparting instruction) ¥&Td F ¥ B T T H 18T :
2 Femi @ ARqer T SR FA dl armE aRugeE(environmental variablé

qrR S
ﬁmﬁqﬁﬁ%ﬂmﬂ%%@wﬁaﬁ—MWaaﬁ%_

c)mﬁﬁaﬁﬁﬁﬁaﬂwﬁﬁﬁmmm

60. A new teacher to start with, will have to
¢) Tell the students about his/her qua

a) Enforce discipline in class
d) Crack jokes with the students

b) Establish rapport with the students

. Page - 9 “Non-Medical-[H] Set-B
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i N llowi t
§ l + The teacher studies student group behaviour mainly by which of the fo owm)g g: hod ?
z a) Interview b) Experimentation ~ ¢) Case study /d Segal}:on
F1 IO FE
%ﬂﬁg@amﬁm'%ﬁqa%aﬁma%mﬁ-wwa &) Prlem
a) HIETHIY b) c) WAl Gk

I ith allocating work and 5. |
/ﬁ{- The function of the Head of an institution concerned wi ranglng
resources for achieving institutional goals, is :

_~) controlling b) leading T (alloeas
S g @ qer @ qeit @ w6 @ g wE (allocating Work)

SIERES 5 S S E bed @ |

c) organizing d) monitoring

h AT d
a) Pz s b) ey ¢) I ) Frérem |
ing i dia ?
63. Which one of the following is an example of mass me

/ ‘
a) computer b) models <) radio d) tape recorder
ﬁ‘&?ﬁﬁﬁaa H 7

8 7 AR (mass media) PT 3T ] q1 8o 5 Bl

a) FFATY b) Hred c) e Reprdy

6/4. A type of conditioning, where an individual responds to some stimulus that would e
Invariably produce such a response, is :

a) classical b) operant ¢) shaping behaviour d) social behavigy,

RCONRE Tl 5| SEL2 )] (conditioning), Fray  afyg et oo @ fory 9%%&1 Ly
P2 W Py w3 0 sl der @ Fed & |
a) TR b) AR C)Wwﬁd)ﬂmﬁﬁw

65,-  Which of the following is the correct form of short answer question ?

s

< a) What is Ohm’s law ? ¢) State Ohm’s law.
~¥) What do you understand by Ohm’s law ? d) Discuss Ohm’s law.
ﬁ'ﬂ'ﬁﬁ?ﬂﬁﬁﬂ%ﬁHﬁT%Wﬂﬁ@ﬁ?m%?
a) HEH &1 Rgia w20 c)mw%mmi

b)sfﬁq%%am%amwﬂwﬁﬁ? d)ﬁ%ﬁﬁ@iﬁq‘{ﬁi’ﬂnﬁl
06 “F” A A w2 :
" a) ded] b) Felg ,d( afew d) Rem
AT YeEm w ggap 1A @1 g 2 .
a) HMETE) By b) ATl By

O8. "l S ¥ 44

C)W@WW“WJ)W?#WW
ICE U s IeAPR R

a) ey b)  Ium N
| ) S d
9 @ g I U | gy 4 fp fa9rs; Ieg . o
9 9@ by B c) T |
/?Y- U& am 5y . Vo
A T e

)

N " r
ﬁ“W ekt LN
Page - 10 - nm o=
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Addal2417)
r L A -

, w1 ARWA TG f
' 0 ’/p’ "qc .’T -t
) T ) qEEw
oy O WA WO fog weg B .
£ Py 4 | W
L CEE | . - %
1 C) W d) ﬂ'f’l‘% 95 \\ i..
_ CT W
v g 1 ehfEm oo R i . 7
e a n ﬂ“: a . .‘{'\C'. l{./
L 1 by # .
qref { mﬂ’ﬁ!?ﬁI 4y Fur b
%
o1 AR Ve B - - < i ? =
| i \ Tl\lt e"\‘ 5 X\ -_)/ p J’ ‘QM¥
qui / by M ' A “C. \2 ;
) ) 9 ¢) HIEH }? - "Ny ¥ &
1 : - ~ Q"
gl b -i‘h’ al | finf'}‘d e o jfad HTLH a . 2 ﬁ}/ - _
. | =k v
. » = ¢) A d) HHWEHE
 / AD c!nlnmn.ni mass ‘m' is moving such that its momentum is equal to that of photon of (
wavelength A Ihe velocity of electron is ; T pe p - bt
- w\l = ":_ c ,\t
I mh 2h . b B :
'.1 ma .m A C} _[;I 'n mh)
R IO AR G e @ R ogad afa, @ Tk
e B Aacta A ma R L. L= Iy - ‘A
h nh 2h T _pl
i) b) = c) —3 d) mhi h = Ml -r. :ﬂLT
A mai —d - "
L

20cm. Here standard

bridge, the balancing length from the left end is found to e
lue of unknown resistance 15

¢) 140 d) 025 Q

17 Inoa metre
esistance of 1410 the nght gap. The va

b) 050

a)y 0882

& dafm oard 20 aofo & wE B uE 1

¥ 0 R W gy & WA 8
¢) 140 A 025

ctic fields are present. These two fiel
om rest in the region. The path of

pof1eT 9 # (metre ~bridge) e
g (standard resistance) 10

N 080 b) 0.5

% In a region, steady and uniform electne and magn

el to each other. A charged particle is released
A =

;I‘.l:.. — pe

will be - Pﬁ!t"'

a) cllipse b) cirdle . ¢) helix d) straight li
s (Uniform) 91 R qu TEem & AT 2

v 9% H gy @@
v TH GHL & gaErFal

& o &M
a) QNI (ellipse) b) MARI c) B 4y @it

3uwmmﬁmam} 8z & o

Faraday's law of tlt\:m\mugnc[ic induction is related to law of conservation of

b) angular momentum ¢) mass '_)ﬂ/e

a) charge /
s Page - 11 “Non-Medical-[H] Set-B
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§7 f%/ b) smederfer wlka

/ 82.  The Fermi energy for lithium is 4.72 eV at absolute zero. What is the number of conductigp
Y

e, Co w g\‘m‘qﬂ‘:ft{ £ ad aERT (winding) ¥ 500 TG (turns) B SIS A ey
//- \(/
MY N

Y

_ efe @ e d R Wil
ggﬁ'@ﬁ"ﬁ%ﬂ‘ SSFI & :"%1%?:[ ﬁlmm,of:;nlul'ﬂ) ¢) g9 (mass) d) yf
a) dof by @i id (angular m
: ; ible :
80.  The change in entropy is zero for reversible s .

a) adiabatic process
b) isothermal process

}/process in which work done jg Zerg L
: g |
weif & aead S
;7,},0 I (reversible) # fog <
o s

ufgudfes whknr c) 3“39‘5”'25" .QHSQI
47/ a) d) L aguwn - Ei %
n 5 & O[ 8 |
fi has 500 1urnf,<whereas secondary has 5000 furg
sformer ry

v 8. The
The primary winding of a tran Hz. The secondary will have an output of.

-50
primary is connected to an a.c. supply 20 V-5 E e ”
- 7 - |
a) 200 V-50 Hz b) 200 V-500 Hz @ 2V-5

¥ 5000 ¢ (ums) &1 WY, Th THL WS 20 ACH(V) -50 EEHW (Hz) T

91 g 21 A% A gy A -
%}Eo%sgjol Hz ¢ b) 200 V-500 Hz ¢) 2 V-50 Hz d) 2 V-5 Hy
A

-34 N 31
electrons per unit volume in lithium ? Given h = 6.63x10™" Js, m = 9.1x10™" kg.

Q
' 28 -3 28 . §
//?//4/ a) 4.64x102 b) 5.72x10° m™ ¢) 6.72x10"" m d) 3.36x10% 1,3

/
\/'Q/ﬂ:‘x # fow wif ot Ty T4 (absolute zero) § 4.72 eV 21 fiRnpy ¥ gfy e
d& 5

dIYH  (per unit volume)ﬁ HSFI “:eﬁ?‘éf?ﬂ & fFdt 27 Rar RIE| h=6.63x1{)'34js,
m=9.1x107' kg.

By

a) 4.64x10°%8 b) 5.72x10%m? ¢) 6.72x10% d) 3.36x10% m?
83.  The work function of metal js 2 eV. Maximum kinetic energy of hotoelectron§ emitted b,ia
light of wavelength A=4000 A frém metal wil| be : (V) 42 X.E —éj\h‘;!ﬁ 0 4 "EMU""
a) 2eV b) 1.5eV c) l.leV d) 0.5eV
A T BT (work fupc ]
\n,\a ] work function) 2 ey g a??'f T A=4000 A EIRi ?ﬁlﬁu AR ﬁﬂ"f(ﬂ
o PICTRTEIT 7 ARy Foil gy .
?., a) 2eV b) 1.5eV c) l.lev d) 0.5ev
84.  The ratio of intensities of Wo waves is 16 - i
maximum an minimum intensities ratilg : L Pt ?g WO Waves would produce. ~
‘ 25 .2 = [& € 0’ ::% )
[ Wb oA 25: b) 49 c) 4:3 q d 79__—9’—-/'7’_"
g«;/o) A TN A Py ; T 972 Sl
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%E;Ogl*lle Play

T A alamd me !
11““ I ) J ' ‘ D] ““11(11"]11
| gt et it ager a ontal mode) @ Haled (fr ) 1)
] i bh) e M T ‘ requency) M AUl
g | ¢) WV adeny A8 an
! AUl d . = .
Crenvels § ) Al iy hH w1 b ]
ol whve l:wti.ll;k I‘rnm air 1o water, The angl LR
i g, Gnell's law to be vali ' ple of incidence s
T Ani! ! o be valid, then incidence s o) and angle of refrnction 1% (
A ] anrkil
L (o b)Y = oy — N
: 3 dy o 90"
1 " )
il | AERl! ihedl 0 \”,h . s =
i N AN deh :!141 e N .;'1 \
TN et Tgid (Snells Jaw) Hied 3 e ‘ I '
wyr W by uy ~ ' U L
i P c) (U dy 90"
if the requency 1 09 [17. then the capacitance of . _
¥ with pesistance ol 5€2 and imluutmtsg::;"21(;‘(()‘:' l;ll ) U;!Pﬂtilnr. whishmel be m“"ccwd in series ]
nl1 to bring current in phase with voltage, will be
a age, will be b
b) 32 pk
c) 35.2 d) 40.4 pF 4

W) .2 pl
My, on

o waedy A ol

gl e (frequeney) 00 117 2 Q@ gu wdied (capacitor)
ey METAL BRI | ' i
TPRL | !1 111 ‘ nq-_ 200 mil dgddd (inductance) q wle @ e s ® ara hdl # '
PRI qd) W gl B R | | 3 |
gy 02 pk by 32 pk ¢) 352 pf d4) 40.4 ¥ 1,
K8, Snpmrnnihlclill}_.'. ofate 18 an example of good Y |
= ) Dismapnet b) Paramagnet c) {rerromagncel d) Ferrimagnet '
bt O L LE———— 1 el B |
4y ot by RATEE ¢) AL d) FOATAE ‘|
wo A 171 has following, par:unclcrs, Ipss = 30 m,Vas (1) 10V, Vas™ .5 V. What is the value | ll
of dram current ! -
a) 1o mA b) 7.5 mA ¢) 22.3 mA d) 3.75
e "]“_'h'}l'}] '.[‘l T"'I"”E"ﬂ_{}[d QlT‘JlTC'{ %, lpss = 30 III,V('.S (OFF Y -10 v, Vs
wl ML (value) qun & 7
a) 15 mA b) 7.5 mA ¢) 22.3 mA d) 3.7
¢ field, it1s acted upon by -

pole is placcd in uniform electr
d) neither & fo

o0, An cleetric di
¢) force and torque

J/
) A force only (,b) a torque only
o sdftg St gy e e BIes i e @ W
R .
by ddc O ek B
ame W

a) el sl
01, fFan electron and photon pmpugulc in the form of waves having the s

/ that they have gume :
l volnerpy M‘“ncmum ¢) Velocity
e page.13 :Non-Medicai-[H] Set-B
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e
oogle Play

EE%WT* wd e g @ e i Erﬂg?.z‘l B fa A el gry 3
wig B fh gad qm @ fenm =y e
a) F by TRHTAT B3 ¢) aenfad dy B Ty

ﬁ Conductivity of semiconductors is due to !
Both electrons and holes ‘

a) Holes only d) Neither electrons nor holes

b) Electrons only
' '- o B 7 J
@ﬂ’r::ﬂtr; ) darernen fha © ) @i, ATt ot o
:))%'a:eaimz{ g a1 # swgtrE AT A Ry
/93- Which of the following is semiconductor ?
a) GaAs b) Fe:03 c) SiOy ) CuO
Areffea § #1F afesF 27 P
i (o)
a) GaAs b) Fes03 /C) SiO;z ) Cu

plied across :

94 . Ina CE amplifier, the input signal is ap
¢) Collector ~base _d) Base —emitter

a) Anywhere b) Emitter —collector

o d@é (CE) wafadmat ¥ €3¢ gdq WX (across) T Tt 2 |
a) ®E W b) TR~ FRFT

95 X-rays of wavelength 1.54 A are incident at certain glancing angle to a crystal of lattice
4 constant 4 A . What is this angle in I’ ! order of diffraction ?

b) Sin® = 0.2925 ¢) Sin© = 0.0925 d) Sin© = 0.205

R s ) SinO = 0.1925
-"-""f. v - . -
’;é"".-:,‘ T’WYGWWWIMA?@FW%&HW4Aw1@mﬁgwm
%7 28 (plancing angle) @ 5 @ 3 | qg P SwdEE $ QB ¥ R 87
- @A+ Sin0=0.1925 b) Sin© = 0.2925 ¢) Sin® = 0.0925 d) Sin©=0.205

“1 7 / - N
i '/'4 \7“)( _ What is the velocity (;t an uieulron in ground state of hydrogen atom 2 Gn.rel;I ﬁpermtttm}]}'ﬁf

¢ free space is 8.86 x 1072 C*N"'m?. “‘,"-: e A (Fer

\'J n

by 4.27 x 10°m/s c) 2.19x 10* m/s d) 4.27 x*lo-mmlé‘i

. a)2.19 % 10° m/s
s toe, - . .
5/% /Xr‘*sﬁmqmrﬂlcﬁmsmﬁfzﬁﬁﬁmaﬂm%?@ﬁﬁmﬁﬁﬂwﬁ
8.86 x 1072 CN'm? € 78 21
a) 2.19 x 10°m/s b) 4.27 x 10° m/s ¢) 2.19x 10°m/s d) 4.27x 10°m/s

The temperature T’y and T2 of heat reservoirs in the ideal Carnot engine are 1500 °C and 500 nc
respu,nvely If Ty increases by 100 °C, what will be the efficiency of engine ? "

'iﬂ % b), 89 % ¢) 95% d) 100 %

>
- ) < P ’.f; i
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G ﬂrf%ﬁ@ T, FHI \SOJ lggd | Camot engine) % Ty Rwafat (heat reservoirs) 5”7 [
a«;qﬂT"‘" afmiﬁﬁ P T4 500°CR®. 3f} T, : 100°C ¥ @@ am @ A4 "
& T b 59% %
,.\L‘] 62 % o c) 5% d) 100 % »
: : : N
he work done 11 placing a charge of 8x10™ coulomb on a condenser of capacity 100 yF is ) 4 - “(.,
$ / 7
10 &) . Q
[y 4x10 ) b) 32x 107} c)16x1072] d) 3.1x10%J 7y 4

e
B

| ST
7 (capacity) 100? uF ® ST I 8x10° Ferr FT A (charge) WA B T Y 3 4
o AT e §

Ry
.iOJ b) 32 x 0-32 32 26 v o ?’
g 4x10 c)16x107°) d) 3.1x107 1 e/ k

The core of transformer is laminated to reduce : Y A

. ' \0
g) flux leakage b) hysteresis c) copper loss A)/ eddy currents “)i“\'
ﬁﬁﬁﬁaﬁﬁw“'i'%%ﬂmaﬁﬁtﬁﬁﬁ%zﬁmm%? 7(}}4
g T o o e LT W v
p) BEURE d) IS8 FcH o8 g\“gi_,c .

100 Calculate the frequency of phase shift oscillator if R =Ry = 1 MQand C=75 pF: =% I .
a) 667 Hz b) 987 Hz ¢) 1237 Hz d) 1637 Hz i - P
g R ST 7 %) smfa # e # AR R=Ry=1MQand C=75pF : et © _y
a) 667 Hz b) 987 Hz ¢) 1237 Hz d) 1637 Hz /"\T;

L
ber of molecules is in : ,“3 4 €
|. The largest num A
[0 3% ".Lt'\?o - o> % .
/ a) 36 g of water \ il c) 46 g of ethyl alcohol

b) 28 g of carbon monoxide d) 54 g of nitrogen pentaoxide
qaR SaET IR 9 e d 21
a) 36 UM THT ¢) 46 A TSI ITHIEd
b) 28 T A A RIS d) s4TW AR TewEES

102. The alkaline earth metal which does not give flame colour is :

) Mg /bﬁa c) Sr d) Na

e o A A e O A W T

a) Mg b) Ca c) Sr d) Na
i : \kcn‘ x Ho¥-
103. On adding solid potassium cyanide to water -
: a1 ¢) pH will not change
;)) I:,}:q ::‘illll ?;;::;:e d) Electrical conductance will
e wrEAEe @ aE ¥ fae @ .
a) pH T3 o) pH ¥ e & Bm

b) pH W2 d) Rl T
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ice with cell edge o T

dy Centered Cubic) latt e |
104, Sodium metal crystallizes in the B.C.C. (Body

[ is : d) a/2y37
radius of the sodium atom is : oa o

a) a/V2 b) a V372 : o aﬁ%m
R oy FRSaew & @ Ad@d (@0 a;é ) AT i '3"“‘1\5
| l a
mg%l iRy oy #ASHE e ;
ﬁﬁ mﬁf i b) \fg‘f") C) '
a) a/v2 a = ), the value of AH —Ay (in kJ)
( )+302(g)—-——>2C02(g)+2H20()‘
105, For the reaction: C%H.q g -
5 al(];(]{lll{and | baris: : b (%;T 4 ﬁ) )
‘ Lot AH -AU T
-5.0
: ~‘) zO(Q-—+2C0AQ+2H£MDHﬁWT% fer
C:‘I‘L(‘ + 2 (g : -
A %Em 300 K31 Hl:) (5:;)? 3 d)
a) -5.0 {

t choice is : )
106. For H3PO; and H3POy, the correc ¢) H3PO; is tribasic and reducing agent

a) H;PO; is dibasic and reducing agent d) H3POy is tribasic and non reducing agent

b) H;PO; is dibasic and non reducing agent

8 .
}1.‘10;3?1DH3P04 f; ng ;@ﬁwﬁﬂzﬁ? ¢) H:PO, TR T 9ed A e
a 3 13':@'2' b

i A1 e
b) H;PO; SRS Td 71 we} a1l Wi d) H,PO, TSRS w7 TN e

i ion, t i ¢ in equilibrium :
107. During depression of freezing point in a solution, the following ar q

iqui te, solid solute
a) Liquid solvent, solid solvent 3) tllqzllg 2213; i L
b) Ligquid solvent, solid solute ) Lig ;

w%mﬂwﬁﬁg%ﬁﬁm%ﬁ?ﬁﬁﬁ%ﬁaﬁﬁﬁﬁ?mﬁm
(equilibrium) & 2. |
a) TS ST, A9 Seam ©) T YT, B gerraiiey |
b) T ST, A9 yorre DT G, 3 Orortam

108. The density of a 2.05 M solution of acetic acid in water jg 1.02 g/ml. The molality of the
solution is :

Q) 114 mol/kg b) 3.28 mol/kg c) 2.28 mol/kg

T ¥ WRT e 3 205 M Wieqw= ) gy 1.02 g/ml ¢ eI # ARk
(molality) 8 !
Q) L1438/ Ry o b) 3.28 Fai/fs oy

©) 2.28 9T/ R d) 0.44 AR

ith tert — butano!, the

€) tert - buty] benzene

109, Whep pheny| Magnesium bromigde reacts w

Product formeg is :
) Benzene b) Phenol
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e 3?; L_I_Jl_ —l I_j
The number of unpaired electropg in Fe' 2P @ J
. (Atom;
) ! 3 )msnumbcr'z"ﬁ) is
) ‘ c
re AT (T Ho 26) 3 FY i d) 2
4 b) 3 "a'ftg)) Sﬂﬁmf‘ﬁm M fir 2
gimplest amino acid is 9 2
il .
z) Alanine ) Glycine 1
m %: €ucine d) Valine
p) W ) T ) e .
- d)
o B enzoyl peroxide when heateg 10 about goc give
2 5:
a) Carl:)t:)n“m.1 ion b) Carbamon ¢) Carbene d)
. Free radical
TR TRIAHEIES #Y 5o’ 9% W 5
: 3 frﬂr%ﬁaa A e 2

113.

b) CH3CH(OMe)CH,OH

MeOH & | gre
a) CH3CH(OH)CH,0Me

¢) CH3CH(OH)CH,0H
) CH;CH(OMe)CHy(OMe)

¢) CHyCH(OH)CH,ON
b) CH;CH(OMe)CH,OH (ORCH;

d) CH;CH(OMe)CHz(OMe)

er chemical reaction
mical reaction wil| be (

The half life period of a first ord

$6.93 min, The time required for the
completion of 99% of the che

0g2=10.301) :
a) 230.3 min b) 23.03 min ¢) 46.06 min
wuwmmmﬁmuﬁ%mémﬁﬁﬁmaﬁmﬁmﬁaa%a
yfafkar &1 9994 B & R sl wwy o (log 2=0.301)
a) 230.3 fAFe b) 23.03 =T ¢) 46.06 e
Which of the following is a thermoplastic :
_2) Bakelite b) Polythene ¢) Nylon-6
i 3 & 99 @ o oieRes 2 7 )
a) ddeiree b) wifcrdr b) AATIIT-6

The nitrogen atom in pyridine is :

2) sp” hybridized b) sp’ hybridized ¢) sp hybridized  d) |

TS ¥ AT ww g |

a)N‘EE% 5):5p FRRETES
; P ' d) 3FAF A&
) sp’ BiNsTENIS
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118,

119,

120.

121.

@

122

o be isotonic :

. fonn e eX cctcdl
solutions are exp g AT Nazsoq

Which of the following, pairs of

¢) 0.1
) 0.1 M urea and 0.1 M NaCll d; 0.1 M glucose and 0.1 M Na(C]
C'l
b) 0.1 M urea and 0.1 M MgCla ’ PO e

Pufolen dlequer @ gt 3 B8 it

a) 0.1 M urea 31 0.1 M NaCl
b) 0.1 M urca 8% 0.1 M MgCly

¢) 0.1 Ca(NOs)2 3T 0.1 M Na,S0,
d) 0. M glucose 3T 0.1 M NaC]

Idehyde on heating with aqueous NaOH solution Bives

A mixture of benzaldehyde and forma 5 odium benzoate and Sodium formae

a) Benzyl alcohol and Sodium l"m'l"'"l'c : d) Benzyl alcohol and methyl alcohg)
sodit wizoate and methyl a coho

b) Sodium benzoate v B o - l

a o ¥ r‘,r-ﬂ'{'fg d T ] R1

sted NaOH afeyeret @ dSlcSEIRS 5 e

Pyetar @ B . ¢) afeag e Qﬁ?ﬂ%ﬁq e

by dlRuy Aqaiue ud T R

Benzyne is pcncrulcti from : '
) . B . o

a) Chlorobenzene in presence of sodamide 1n liquid NH3

b) Benzene in sodium in liquid NI

¢) Benzene in liguid NH3 BLp

d) Action of heat on benzoic acid

Jqurdd g A @ ‘ 3

2 e N 3 s @ aeE R NG RIRe

by decl NI, A @fsm ¥ dARE J

¢) dil NI y A 8 N _

Q) ddiigh Rg wx @ s 8

Which of the following reagent can convert benzene diazonium chloride into benzene :

a) Water b) Acid ¢) Hypophosphorous acid d) LiAlH,

Peaffg A 4 @4 @ Rsle 3R Shasnfras RIS ® SARE # Fea W%

a) ul by TR ¢) BIFIHERRYE TS d) LiAlH;

An ideal gas is compressed reversibly and adiabatically, its

2y Temperature will increase c) Entropy will increase

b) Internal energy will increase d) Pressure will increase

sl Na (ideal gas) Qavellcl qun vfdermdRaeh #Fda #t wwit 8, @

a) AT &g uTa ¢) WA g St

by AdRad 3wl §a wnuf d) G919 §g ST

The correct order types of H atom towards free radical substitution is :

BT Il ¢) 1°H> Allylic > Vinylic

b) Allylic > 1° H > Vinylic d) Vinylic > Allylic> 1° H

Wda WEwe wiiems (substitution) @ TXE H STHTY T WARI Bl HA B
a) SEEE > BeeRE > 1o f ¢) 1°H > i > i
b) IS > 1o > Rerefie d) farefers > sremefe > 1°H
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4 drOWSiS of 2 = Bromo - 3 — methylbutane yields :
¢ 1Y
; he Mcﬂ‘yl 2 — butanol

¢) 3 — Methyl - 3 — butanol
_Methy! — 2 - butanol d) 2 — Methyl - 2 - butanol

@ﬂ__g.,fhfuﬁﬁag?%% B & fyeay 2

jfxﬂ“ﬁaﬂz—agé ¢) 3 - franEd - 3 - @ AW
° d) 2 - Mured - 2 - sgE AW

o many Lypes of electronic transitions are taking place in visible and UV regions

5y Two tyPes b) Three types ¢) Five types d) Four types

qcdéd T @ (UV) A R THIRX B Wﬁ_‘ﬁ Y (electronic transmons)gﬁ 27
3)61W$ b) T wFR & ¢) U YHR ® d) 9 YER &

The correct sequence of basic strength of aliphatic amines in aqueous solution is :

2 RiN> R,NH > RNH;
b) RNH2> R‘ZNH > R3N

|23

¢) RyNH > RNH; > R3N
d) R3N > RNH,> R;NH
gt diegEr SRS meTw A gfed awa @ wd FE 2

2) ReN > RoNH > RNH, ¢) R;NH > RNH,> R;N
b) RNH,> R;NH > RaN d) RyN > RNH,> R;NH

126. The smallest positive integer n for which (1+i) =1is:
waawwmnﬁﬁm(uq o

127. The equation vx + 1 —vx — 1 =+4x—1 has:

a) no solution

¢) two solutions
b) one solution

d) more than two solutions

TMFEWT /X + 1 —Vx — 1 =Vax—1 7

1

a) T4 BA BT ) A BA B
by TF A & d) 21 A I=w ' B
128. 1f xdy = y(dx + ydy), y(1) =1 and y(x) > 0. Then y(—3) is equal to :
a) 3 b) 2 c) 1 d) 0
ST xdy = y(dx + ydy), y(1) =1 T y(x)>028 1 T y(-3) §T= 2
a) 3 b) 2 c) 1 d) O
129. Which of the following numbers is rational ?
4) sin 15° b) cos 15° c) sin 15° cos 15° d) sin 15

Mratfe 3 q =" @1 3w 9IRAT (rational) B?

4) sin 15 b) cos 15° ¢) sin 15° cos 15° d) sin L

=

_ g T
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130. IfA =l13 i] then express A* — 5A% + A? as a linear polynomial in A

a) A% +4A +1 b) A*> — 4A + 5l c)15A+6! d) 5A — 4]
A r = E 2 Ef?" c -
gfe 1 2 &l ¥ Iy & ' H A 5A% + A BUE i FY
[3 4] A a’g‘:ﬁ’
A% +4A + ¥ 5A —
a) A2+ 4A+1 b) A2 — 4A + 5l c) 15A 6l d) 4]

he following methods i
131. For interpolation where x values are not equally spaced, which oft ;. ds is the

best choice : I
¢) Newton’s forward method

a) Lagrange’s method d) Stirling’s method

b) Newton’s Backward method

e %m,wxwwa?@“ﬁm’w%
| o g e
sl o = @ fased s p— £ o

a) SIS SEAGR
b) TgeAE dhas @ d) eeffma T 1
il -3 3 « ‘\m“ Ak
132. The eigen values of the matrix A=|3 =5 3| are: Qo™
6 —6 4 |
po’
_ - dy2,—2
a) —2, 4 b%z 2, 4 %) 2,4 - ;
1 -3 3
afesa A [ -5 3 £ T (eigen) AT ®
—6 4
a) =2, 4 b) 2,-2, 4 )2,4 d)2,-2
133. The eigen values of a Hermitian matrix are always :
a) One b) Purely imaginary ¢) Real d) Zero
g Bftad o R (eigen) WTA BHEN 2t & |
a) I b) fAg& wreafre }y—cmﬁfaﬁ d) =4

134. A speaks truth in 80% cases, B in 90% cases. In what percentage of cases are they likely to
contradict each other in stating the same fact.

a) 20 % b) 26 % c) 30 % d) 74 %

A 80% HHST H g Qeidr 8 B 90% wHal H | haa wferg #wen #
9 wh & aed @ gena & fow uw gEy wn fagde ey e
a) 20 % b) 26 % c) 30% d) 74 %

135, The mean and variance of binomial distribution are 4 and 3 resnectivelv Then P(X > 1)1s:
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Google Play
- = 1 5
a faus & qg inessierer S ) 1
1Y% ¢ s (variance) shwar, 4 wq * 2 .
p(X = ™ S F,
d 08 b) 0.9
¥ o Cc
2) I )Ogs = 4) 0.99863 3 e
ute Jo (rax)? B €. (re)" T ‘.‘l")'%a s R i
ComP : bl D/~
i pe - T /- j Yy~ ,;'r( A
% a (o P e
Fr P10 ) 6 - (% | ?U./G 5 4Gl A |
2) 50 : ._ &\/
L 111117“ G -[0 (1+x)7 dx =
b) 10
a) 70 60 c) 6 d) 60 =2\ '1
ff w202 |
d sufficient
. The ‘::‘fessaw e ient condition for the vector function F (t) to have constant magmlude ’
Fx—=0 b) F—=0 dF _ X
a) FX ¢ t /C)dt—O d) =0 S(.[:-'? A
e T FOF B Rerds Anfrege et vy afvend T s
rd
L dF -, dF dF
a)Fth'fO b) P =0 ) =0 d) F=0

;8. 1fd is a constant vector then div(¥ x3) =

/)/0 b) 1 c) 2 d) 3

afz 3 T TRUR(h FFEX B, W div(i xa@) =
a) 0 b) 1 )2

y' Compute div curl V=
/1/ 0 b) 0 o) 1 d)
TTHT R diveurl V=
a) 0 b) 0 c) i d) j

140 Compute J,(0) =

) - b) 1 03 d)
T X Ji(0)= 5
¥ b1 ok

M1 Find the angle between the concurrent forces P and 2P, if their resultant is o
a) 30 b) 45° ) 60

lP)u'-r (:?P)m—f-& p.op
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oodgie ay

quadl aw F o 2F B A= F I T

&1 WG V7P B - & o’
a) 30° by 45° c) 60
. wind 2ppeas ¥ m Bom acety
142, Toapet&mgﬂingem:rds“im veloctty of 4 km B M“ﬁﬂkm“& |
3 < cOme frore e
doubles his speed and then wind seems ¢ |
wind towards east-south ? o 0 |
.y 23 km/br ) 32 omter
a) V23 km/hr b V32 kmbr ¢) 13 o |

143,

144.

146.

147.

2 4 g3 4 oo ) is comvergent i -

The geometric series (1 + X+ X
== dx<-1
Al <1 b x=1 c)x=
Radls ge (4 £ ARk ) FTATRE 2. T=
a) x| <1 b x21 ¢)x=1 d) x
The point of inflexion of the curve ¥ = B —6xF+9x-+1is:
r) oy , - d
a) (2.3) by 3.0 ) 2.2) d) (3.3)
F y=x —6x2+9x+1 FT —EATE (inflexicn) Bg &
N (2,3) b) (3.2) ) (2;2 &) (3.3)
. Compute limy_, I::: = e
a) | 08 ¢)n+l dn—1
AT FX limyy i =
a) 1 b) n &) m+1 da—1
The remainder when (x* + 7x2 — x + 1) is divided by (x — 1) is :
a) 2 b) 3 o) 8 F
o (x3+7x2_x+1) Ef (x—1) g fawfsa ar qiq‘[%ﬁrmw \
SN _
a) 2 b) 3 o8 o
& i <1 R . e
Evaluate (cos-l-g + isin ;—5—) (cosg + isin E) (cos%“ + isin3-55) .

d)3
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The eigen vectors corresponding o distingt eigen values of a matrix are

GET IT ON
Google Play

i DT (cos Ly g CO8% s o N
e 15)( a*‘s‘“s)(msir?m“% -
b) 1 |
Tk ) 92 d)3
por which value of A the vectors (3, 4 0:Q. X, Vang (0, 1, 3 are \inear|
are linearly independ
5l R ®) 0 )32 d)2
F 0 N YE A Jgey (O :
%? O N 1) g 0, 1,2 %
A2 b) 0 ) V2 d) 2

a) Equal b) Linearly dependent
o AlCH + RAfme SR
a) SEX

C)W‘aﬁaﬁ[

The latus rectum of the parabola b X T

a) |

b)) 2 0) 3
A& vy =3x S AeH i-q’d'q (latﬁsrectum) 2
| \ 5
.-\—
a7~ QAT 27 RERE
5 7__,§L1 4 28 Space for Rough Work
C 8 ) i
/L/? P C“g s X

=~
b

<) Linearly independent

d) null

(cigen) et % e
I i T A 8
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